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Question: 1

You issue a "request system zeroize" command. Which statement is correct in this scenario?

A. All data files remain unchanged but all configuration settings returned to factory defaults.

B. All data files are deleted and all configuration settings are returned to factory defaults.

C. All data files are deleted and all configuration settings remain unchanged

D. Disk space is freed by rotating log files and a proposed list of files to be deleted is presented.

Answer: B

Which two statements describe a routing policy?

A. Active and inactive routes are available for export from the routing table.

B. A routing policy allows you to control the flow of information into the routing table.

C. Routing policy are used to choose which routes are sent to neighbors using dynamic routing
Protocols

D. Attribute changes applied to export policies always affect the local routing table

Answer: BC

Which two features are implemented on the Packet Forwarding Engine? (Choose Two)

A. Chassis Management

B. Firewall Filters

C. Class of Service

D. Routing protocol update

Answer: BC

Question: 4

What is minimum configuration required for a Junos device to respond to SNMP requests?



A. set snmp community public authorization read only
B. set snmp public version v2

C. set snmp community public

D. set snmp trap-group public version v1

Answer: C

You have entered the command "show log messages | match "error | kernel | panic" which statement
is correct regarding the keywords error, kernel and panic in the output?

A. the output messages will contain all messages from the file except the ones that contain all
three defined keywords.

B. the output messages will contain all messages from the file that contains all three defined
Keywords

C. the output messages will contain all messages from the file that contains at least one of

the three defined keywords

D. the output messages will contain all messages from the file except the ones that contains at least
one of the three defined keywords

Answer: B




